
ME 1020 Engineering Programming with MATLAB 

Problem 7.9: 

 

Problem setup: 

𝑃(𝑎 ≤ 𝑥 ≤  𝑏) =
1

2
[erf (

𝑏 − 𝜇

𝜎√2
) + erf (

𝑎 − 𝜇

𝜎√2
)] 

𝑎 = 7.99, 𝑏 = 8.01, 𝜎 = 0.005, 𝜇 = 8.007 

𝑃(7.99 ≤ 𝑥 ≤  8.01) =
1

2
[erf (

8.01 − 8.007

0.005√2
) − erf (

7.99 − 8.007

0.005√2
)] 

% Problem 7.9 

clear 

clc 

disp('Problem 7.9: Scott Thomas') 

mu = 8.007; 

a = 7.99; 

b = 8.01; 

sigma = 0.005; 

 

P3 = 0.5*(erf((b - mu)/(sigma*sqrt(2))) - erf((a - mu)/(sigma*sqrt(2)))) 

Problem 7.9: Scott Thomas 

 

P3 = 

 

   725.4100e-003 

 

 

 

 

 


